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From where do we derive that — DTN R2UAW 17150 92 YRR 1IN
A y713% is R»un a person in his days of counting

OVERVIEW

Once a person is verified as a (¥7m1) ¥y¥A he is (¥an2) 22901 (RWnH21 ¥312) QTR RHLA
and he is also 2w 20wn Xnvn and is 27182 X, When he is cleared of his nyny,
three steps are required to make him completely M7v. First phase is the birds,
shaving his body, and 1%°2v followed by counting seven days (17190 °»°). At this
point 1790 °»°2 he is only ¥ana 2°931 07X Xnwn. Second phase is an additional
shaving and 7%°2v afterwards (on the seventh day). At this point he is not Xav» but
cannot eat w71 72170 (or enter the p"727°2). On the eighth day he brings the n1127p
and is completely 770, "X 72 M271X 27 asked from where we derive that the ¥y1xn»
1S XnLN a person 17190 2. Our MO explains why he assumed that he is Xnvn,
and why the X713 seems puzzled from where we derive this.

— vx mwn /xpr) D999 NIDMN WA INTD 'NNONT Y XVIVWS

It was obvious to 127X 27 that a y7¥7 is 17190 "»°2 X»un as we learnt in a mwn»
in the (very) beginning of 29> noon -

— 5915 549190 3253 ¥ N 8PVY “0529 Jat NaoY PyIvn MNMILA MAaN

The N2 NI2AR of 171D 972592 YIIRRY <R RXWY PIT NAsw v, etc. -
— 9PN DN 0D YMII DIV DN PNRNVN IIN Y9N

The above-mentioned are X»u» people and utensils by touching them and they

are also Xnun earthenware if they enter its air space. This concludes the mwn which
clearly states that a 1190 "1n°2 ¥y¥7 is (2°931) DTR RV,

mMdoIN responds to an anticipated question:’
19103 N2V NNINAT YIYN 9NV DI NN $25n5 NNT NDPVNT 191 *¥3 799
And the reason "1271X 17 queried from where we derive that a 17190 %2 yX» is

! 5127m% 21 asked from where we derive that he is X»un; obviously it is accepted that he is Xnun.

2 7w refers to the eight 0°¥7Ww which are enumerated in 9-03,8° (P1W) XK.

? Semen

* The n"an M deletes the word 7721, A 79°21 is Xnun also Xwn3; it is stricter than the mentioned XmIVA MAX.

* One who became X»u by coming in contact with a dead body (in various ways).

® See ‘Overview’.

7 Why should a y77%» not be 17190 =2 Xnbn, since he was X»wn up to this time (as a wbm» ¥118»), and he is still in

middle of the process of becoming 71707 (See 0"n.)

¥ 1,7 (y¥n) Xp7. The P10 there is discussing the actions the y11¥» takes after the 0% phase and it reads: ©33)
D) NYW 287 Yanm 2w myned OX RID) 0K) ) 2va v PR 92 NN Mok 172 Ny ound
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Nnun, is because it is written (regarding a ¥y7¥» immediately before 17190 *n»Y),
‘and he shall wash (immerse) in water and be =y7%’; indicating that with this
7992w he is 9703 (from his ny1¥), so why is he 17190 2 XnUA?

SUMMARY
The mwn teaches that a 17190 %2 ¥y71¥1 1s QTR Xnvn (even though the 77N writes
7YY 212 v [at the beginning of 17190 "»]).

THINKING IT OVER
Was "127nK 21 aware (when he asked 17190 "1°2 Q7R Rnvnaw vyxn? 1°12) that there is a
difference in the XMW of a ¥71¥» between 1191 "1 and 17190 n3?
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